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Q8 Model Solution – 60 Marks Marking Notes 

(a) 
(i) 

 

ߤ = ߪ									5∙63 = 10 

ݖ =
50 − 63∙5

10
= −1∙35 

ݖ)ܲ > −1∙35) = ݖ)ܲ < 1∙35) 
= 0∙9115 
91∙15% 

 

 

Scale 10D (0, 3, 5, 8, 10) 
Low Partial Credit: 
  identified ߪ or ߤ •

 

Mid Partial Credit: 
 found ݖ •

 

High Partial Credit: 
ݖ)ܲ • < 1·35)and stops 

 

(a) 
(ii) 

 

ݔ)ܲ > ܼ) = 0∙015 
ݔ)ܲ < ܼ) = 0∙985 

ܼ = 2∙17 
ݔ − 63∙5

10
= 2∙17 

ݔ = 85∙2	kg 
 

 

Scale 5D(0, 2, 3, 4, 5) 
Low Partial Credit: 
• identifies 0∙985 

 

Mid Partial Credit: 
• identifies 2∙17 

 

High Partial Credit: 
• formula for ݔ fully substituted 

 

(a) 
(iii) 

 

݊ = 150, ݔ̅ = 62, ݏ = 10	kg 
	௢ܪ     → mean	weight	has	not	changed						 
	ଵܪ     → mean	weight	has	changed 

ݖ =
62 − 63∙5

10
√150

	 

= −1∙8371 > −1∙96 
Mean	weight	has	not	changed 

or 
Confidence interval: 

ഥ	ݔ                 ±1∙96 ఙ
√௡

 

           62 ±1∙96 ଵ଴
√ଵହ଴

 

            62 ± 1∙96(0∙8165)	 
	62 ± 1∙6003 

	[60∙3997, 63∙6003] 
63∙5 falls within this interval 

∴ insufficient	evidence	to	reject	 
the	null	hypothesis	 

The	mean	weight	has	not	changed	 
 

 

Scale 15D (0, 5, 7, 9, 15) 
Low Partial Credit:  
 formulated with some substitution ݖ •
• states null/alternative hypothesis only 
• reference to ±1·96 

 

Mid Partial Credit: 
 fully substituted ݖ •

 

High Partial Credit: 
ݖ • = −1·8371 > −1·96  
• fails to contextualise the answer 
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(b) 
(i) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(b) 
(i) 

  
Scale 15C (0, 6, 9, 15) 
Low Partial Credit: 
• 3 boxes filled correctly 

 
High Partial Credit: 
• 10 boxes filled correctly 

 
 
  

1
2

 

Random
school 
day in 

Galway 

1
2

 

1
8

 

1
2

 

1
3

 

1
4

 

1
5

 

ܶ 

 ܶ	݋݊

ܴ 

 ܮ

 ܮ	݋݊

 ܶ	݋݊

 ܮ

 ܮ	݋݊

 ܮ

 ܮ	݋݊

ܶ 
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(b) 
(ii) 

 
ଵ
ଵଶ
+ ଵ

ଷ଴
+ ଶ

଺଴
+ ଺

ଽ଺
= ଵ଻

଼଴
   or 0∙2125 

 

 
Scale 10C (0, 4, 5, 10)  
Low Partial Credit: 
• 2 relevant fractions transferred 

 
High Partial Credit: 
• 4 relevant fractions  identified but fails to 

complete 
 

(b) 
(iii) 

 

(ܮ|ܴ)ܲ =
ܲ(ܴ ∩ (ܮ
(ܮ)ܲ

=
1
12 +

1
30

17
80

 

=
28
51

 5490∙0	ܚܗ	

 

 
Scale 5C (0, 2, 4, 5) 
Low Partial Credit:  
 (ܮ)ܲ •
• ܲ(ܴ ∩  (ܮ

 
High Partial Credit: 
• Formula fully substituted 

 
  


